The verb TO BE

Match the negative forms and negative contractions

SUBJECT NEGATIVE NEGATIVE
CONTRACTION

(1t | | am not I'm not
person)
(2nd You
person)
(3rd She
person)
(3rd He
person)
(3rd It
person)

We
(plural) You

They
It is not He's not You are not You aren't

You aren't She is not He isn't She isn't
Itisn’t We're not '
You're not You're not
She’'s not We are not They dare not They're not
They aren't You are not We aren't Hessnet It's not




TASK - Write a negative sentence for each pronoun.
Use the contraction.

Example: I'm not at work today.
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